VA4A_h "VA" 8 Leg Fitting Kit, Aluminium Rack

(1ofé)

Ab29

Vivaro/Traffic/Primastar 2014-
L1, H1, TWIN DOORS

. S 1971mm _f/\
x X ol 200Kg ~—— 3098mm ——
36kg 4998mm
Vivaro/Traffic/Primastar 2014-
A630 L1, H1, TAILGATE
A -§
= - 1971mm s
(®——’®—}l - | 777mm 784mm 589mm ‘270mm|
== e e—— ﬂ Max. —— 3098mm —— F R
200kg | | | 4998mm | ( ) ( )
31kg
Vivaro/Traffic/Primastar 2014-
A63‘| L2, H1, TWIN DOORS
. i
N N\ 1971mm 7 | 777mm 784mm | 990mm | 450mm |
e i - | O O (F) (R)
40kg | 5399mm |
Vivaro/Traffic/Primastar 2014-
A632 L2, H1, TAILGATE
' m
6 7 Tlﬂmm __.®,E | 777mm 784mm 990mm |250mm|
+ Max. —— 3498mm —— = F R
200kg | | | 5399mm | ( ) ( )

37kg

Manufactured by Rhino Products Ltd in the United Kingdom




VA4A_h "VA" 8 Leg Fitting Kit, Aluminium Rack (20f6)

(1:1)

EXT09-004 x 8 u @

i I FBOO3 (M8 x 65) x 16 FWO002 (M8) x 32 FNOO6 (M8) x 16

MS417 x 8

FWO036(Mé) x 16 PS208 (M6) X 16
13mm x 2 @
FS038 (M6 x 25) x 16 O o
10mm x 1

PSO95 x 8

PSO89 x 1

--| || |||‘ || |||| || |||‘ || || || '\ ||

FS059 (M8 x 25) x 20 FNO23 (M8) x 20

PSO90 x 1

FTOT x 1

PS210x 8

Manufactured by Rhino Products Ltd in the United Kingdom




VA4A_h "VA" 8 Leg Fitting Kit, Aluminium Rack (30ofé)

Manufactured by Rhino Products Ltd in the United Kingdom




VA4A_h

"VA" 8 Leg Fitting Kit, Aluminium Rack (40fé6)

30mmMIN

e

9.

1.

dunnegy

12.

(=)
<$gunmdp  @unp

Gunep @uunp \

Manufactured by Rhino Products Ltd in the United Kingdom




VA4A_h "VA" 8 Leg Fitting Kit, Aluminium Rack (50fé)

Manufactured by Rhino Products Ltd in the United Kingdom




VA4A_h "VA" 8 Leg Fitting Kit, Aluminium Rack (60ofé)

Manufactured by Rhino Products Ltd in the United Kingdom




MA4A_b  "MA" 8 Leg Fitting Kit, Aluminium Rack (1 of é)

Vivaro/Traffic/Primastar 2014-

A633 L1, H2, TWIN DOORS

=[x 56/‘——‘ | | (F) ronm |_ s | eomn || (R)

m+ = Joox - 3098mm
32kg 91, 4998mm

Vivaro/Traffic/Primastar 2014-

A634 L2, H2, TWIN DOORS

. _ 2493 mm _ .
l | 250mm ‘ 508mm ‘ 649mm ‘ 945mm |

=R - 25| 7 e (F) ' R)

Manufactured by Rhino Products Ltd in the United Kingdom




MA4A_b  "MA" 8 Leg Fitting Kit, Aluminium Rack (2 of é)

2

EXT09-004 x 8

Al

MS168 x 8

PS095x 8

PSO89 x 1

PSO20 x 1

(1:1)

=mm (0) ©

FBOO3 (M8 x 65) x 16

FSO41 (M6 x 16) x 16 FWO0O01 (Mé) x 16 FWO008(Mé) x16

| R il

FS059 (M8 x 25) x 20 FNO23 (M8) x 20

FTOT x 1

FW002 (M8) x 32

PS024(Mé) x 16

FNOO6 (M8) x 16

i

FNO20(Mé) x 16

@ 13mm x 2 @

=
©

1T0mm x 1

Manutactured by Rhino Products LTd In The Unifed Kingdom




MA4A_b  "MA" 8 Leg Fitting Kit, Aluminium Rack (3 of ¢)

Mé x 16mm.,

Manufactured by Rhino Products Ltd in the United Kingdom




MA4A_b  "MA" 8 Leg Fitting Kit, Aluminium Rack (4 of é)

30rnm kAN 9

1. 12.

puunngp

A A

.  ——
~

dpminnsle  dpmimme | | i  AnE
| |

J] R N R R

Manufactured by Rhino Products Ltd in the United Kingdom




MA4A_b  "MA" 8 Leg Fitting Kit, Aluminium Rack (5 of )

Manufactured by Rhino Products Ltd in the United Kingdom




MA4A_b  "MA" 8 Leg Fitting Kit, Aluminium Rack (6 of é)

®

Manufactured by Rhino Products Ltd in the United Kingdom




	Sheet1
	Drawing View1

	Sheet2
	Drawing View43
	Drawing View44
	Drawing View45
	Drawing View46
	Drawing View47
	Drawing View48
	Drawing View49
	Drawing View50
	Drawing View51
	Drawing View52
	Drawing View53
	Drawing View54

	Sheet3
	Drawing View10
	Drawing View11
	Drawing View30
	Drawing View55

	Sheet4
	Sheet5
	Sheet6
	Sheet7
	MA4A.pdf
	Sheet1
	Drawing View1

	Sheet2
	Drawing View44
	Drawing View45
	Drawing View47
	Drawing View48
	Drawing View49
	Drawing View52

	Sheet3
	Drawing View10
	Drawing View11
	Drawing View30

	Sheet4
	Sheet5
	Sheet6
	Sheet7




